

12/5/2016

$$\nabla_i \hat{n}^a = -K_i^a \hat{e}_j^a$$

extrinsic curvature

$$K_{ij} = (\hat{n} \cdot \hat{e}_0) \overset{(4)}{\rho}_{ij}^0$$

Symmetric

Choose $\hat{e}_0 \rightarrow \hat{n}$

$$\overset{(4)}{\nabla}_j \overset{(4)}{\nabla}_k \hat{e}_i^a = \overset{(4)}{\nabla}_j \left(K_{ik} \frac{\hat{n}^a}{(\hat{n} \cdot \hat{n})} + \overset{(3)}{\rho}_{ik}^m \hat{e}_m^a \right)$$

$$= K_{ik,j} \frac{\hat{n}^a}{(\hat{n} \cdot \hat{n})} + K_{ik} \overset{(4)}{\nabla}_j \hat{e}_i^a$$

$$+ \overset{(3)}{\rho}_{ik,j}^m \hat{e}_m^a + \overset{(3)}{\rho}_{ik}^m \overset{(4)}{\nabla}_j \hat{e}_m^a$$

$$= K_{ik,j} \frac{\hat{n}^a}{(\hat{n} \cdot \hat{n})} + K_{ik} \left(-K_j^{m1} \hat{e}_m^a \right)$$

$$+ \overset{(3)}{\rho}_{ik,j}^m \hat{e}_m^a + \overset{(3)}{\rho}_{ik}^m \left(\frac{K_{mj} \hat{n}^a}{(\hat{n} \cdot \hat{n})} + \overset{(3)}{\rho}_{mj}^n \hat{e}_n^a \right)$$

$$= \frac{\hat{n}^a}{(\hat{n} \cdot \hat{n})} \left(K_{ik,j} + \overset{(3)}{\rho}_{ik}^m K_{mj} \right)$$

$$+ \hat{e}_m^a \left(-K_{ik} K_j^m + \overset{(3)}{\rho}_{ik,j}^m + \overset{(3)}{\rho}_{ik}^n \overset{(3)}{\rho}_{nj}^m \right)$$

②

$$\nabla_j \nabla_k \hat{e}_i - \nabla_k \nabla_j \hat{e}_i$$

$$= \hat{u} \left(\underbrace{k_{ik,j}}_{(a.u)} + \underbrace{{}^{(3)}P_{ik}^m}_{(3)} K_{mj} - k_{ij,k} - \underbrace{{}^{(3)}P_{ij}^m}_{(3)} K_{mk} \right)$$

$$+ \hat{e}_m \left(\underbrace{\frac{1}{m!}}_{(a.u)} (k_{ij} k_k^m - k_{ik} k_j^m) - \underbrace{{}^{(3)}P_{ij,k}^m}_{(3)} - \underbrace{{}^{(3)}P_{ik,j}^m}_{(3)} + \underbrace{PP - P^2}_i \right)$$

$$k_{ik|j} = \underline{k_{ik,j}} - \underline{{}^{(3)}P_{ij}^m K_{mk}} - \cancel{{}^{(3)}P_{jk}^m K_{im}}$$

$$k_{ij|k} = \underline{k_{ij,k}} - \underline{{}^{(3)}P_{ik}^m K_{mj}} - \cancel{{}^{(3)}P_{jk}^m K_{im}}$$

$$\nabla_j \nabla_k \hat{e}_i - \nabla_k \nabla_j \hat{e}_i$$

$$= \hat{u} \left(\underbrace{k_{ik|j}}_{(a.u)} - k_{ij|k} \right)$$

$$+ \hat{e}_m \left(\underbrace{\frac{1}{m!}}_{(a.u)} (k_{ij} k_k^m - k_{ik} k_j^m) \right)$$

$$+ {}^{(3)}R_{ijk}^m$$

3

$$\begin{aligned}
 (4) R_{ijk}^m &= \frac{1}{\sqrt{|a|}} (K_{ij|k} - K_{ik|j}) \\
 &= \frac{1}{\sqrt{|a|}} {}^{(4)}R_{mijk}
 \end{aligned}$$

$${}^{(4)}R_{ijk}^m = {}^{(3)}R_{ijk}^m + \frac{1}{\sqrt{|a|}} (K_{ij}^m K_k - K_{ik} K_j^m)$$

Gauss-Codazzi equations

Gaussian normal coordinates *

Propagate along geodesics starting along \hat{n} , preserve $\hat{n} \cdot \hat{n}$

$${}^{(4)}R_{ink}^m = \left(\hat{n}^a \hat{n}^b \right) \left(\frac{\partial}{\partial x^a} K_{ik} + K_{im} K_k^m \right)$$

$$R_{mijk} = \frac{\partial}{\partial t} K_{ik} + K_{im} K_k^m$$

~~RNC~~ only

Q

$$\begin{aligned}
 {}^{(u)}G^h_n &= {}^{(u)}R^h_n - \frac{1}{2} {}^{(u)}R \\
 &= -\frac{1}{2} {}^{(3)}R + \frac{1}{2} ({}^{(u)}\dot{a}) (k^i_k k^j_j - k_{im} k^{im})
 \end{aligned}$$

$${}^{(u)}G^m_j = {}^{(u)}R^m_j = ({}^{(u)}\dot{a}) (k^m_j - k^l_{il})$$

$$\begin{aligned}
 {}^{(u)}G^l_j &= {}^{(u)}R^l_j - \frac{1}{2} \delta^l_j {}^{(4)}R \\
 &= {}^{(3)}G^l_j + ({}^{(u)}\dot{a}) \left[k^l_{im} - k^l_j \right. \\
 &\quad \left. - \frac{1}{2} \delta^l_j (2k^m_m - k_{im} k^{im} - k^2) \right]
 \end{aligned}$$

Cosmology. $k^i_i = -\frac{3\dot{a}}{a}$ $k^i_j k^j_i = \left(\frac{\dot{a}}{a}\right)^2$

$$k^i_i = -\left(\frac{\dot{a}}{a}\right) \delta^i_i \quad G^m_n = \left(-\frac{1}{2}\right) \left(\frac{3}{a^2}\right) - \frac{1}{2} \left(\frac{9\dot{a}^2}{a^2} - 3\left(\frac{\dot{a}}{a}\right)^2\right)$$

$$-\frac{3}{2a} - 3\left(\frac{\dot{a}}{a}\right)^2 = -8\pi G \rho \quad \sqrt{\left(\frac{\dot{a}}{a}\right)^2 = \frac{8\pi G}{3} \rho - \frac{k}{a^2}}$$

$$\sqrt{G^l_j = 8\pi G \rho \delta^l_j} \rightarrow \sqrt{\left(\frac{\ddot{a}}{a}\right) = -\frac{4\pi G}{3} (\rho + 3p)} \quad \text{kinematic}$$

$$\sqrt{K^l_j = \left(-\frac{\ddot{a}}{a} - \left(\frac{\dot{a}}{a}\right)^2\right) \delta^l_j} \quad \text{dynamic}$$

recall: $ds^2 = -N^2 dt^2 + 2N_i dx^i dt + g_{ij} dx^i dx^j$
 ($-N^2 dt^2$)

normal $N_i = 0$ $N = 1$ $\rightarrow -dt^2 + g_{ij} dx^i dx^j$

$K_{ik} = -m_{ijk} = \frac{1}{2N} (N_{j|k} + N_{|k} j - \frac{\partial g_{ik}}{\partial t})$

$K_{ik} = -\frac{1}{2} \frac{\partial g_{ik}}{\partial t}$

$K_{ik} = -\frac{1}{2} \frac{g_{im} g_{jk}}{m}$

$S = \int d^4x \sqrt{g} \frac{(4)R}{16\pi}$

$(4)R = R^a{}_a = R^{AB}{}_{AB}$ $(B = n, j)$

$= R^{nn}{}_{nn} + R^{2i}{}_{2i}$ $(A = n, i)$

$= R^{nn}{}_{nn} + R^{in}{}_{in} + R^{nj}{}_{nj} + R^{ij}{}_{ij}$

$= 2 (4)R^{in}{}_{in} + (4)R^{ij}{}_{ij}$

$= 2 (4)R^{ik}{}_{ij} + [(3)R^{ij}{}_{ij} - K^j{}_i K_j{}^i + K^j{}_j K_i{}^i]$

\uparrow can show: divergence + $K^j{}_j$ terms

$$S = \int d^4x \sqrt{g} \frac{1}{16\pi} \left(R - k_i k_i + k_i^j k_j^i \right)$$

Adus

Field momentum $\pi^{ij} = \frac{\delta S}{\delta g_{ij}} = \frac{\partial f}{\partial g_{ij}}$

$$= \sqrt{g} (g^{ij} k_i^k - k^{ij})$$

$u/N, \mathcal{H}^i$

$$16\pi f = -g_{ij} \pi^{ij} - N\mathcal{H} - N_i \mathcal{H}^i$$

$$= 2 \left(\pi^{ij} N_j - \frac{1}{2} N^l \pi_l^j + N^l \delta_j^l \sqrt{g} \right)_{,i}$$

mass, surface terms, other fields

$$S = \int d^4x \sqrt{g} \left(\pi^{ij} g_{ij} - N\mathcal{H} - N_i \mathcal{H}^i \right)$$

$$\mathcal{H} = g^{-\frac{1}{2}} \left(\pi^l_j \pi^j_l - \frac{1}{2} \pi^l_l \pi^l_l \right) - g^{\frac{1}{2}} R$$

$$\mathcal{H}^i = -2 \pi^{ik} \Big|_k \leftarrow \text{super momentum}$$

* Super-Hamiltonian

$$\frac{\delta N}{\delta x^i} \rightarrow \mathcal{H} \Rightarrow$$

$$\frac{\delta N_i}{\delta x^i} \rightarrow \mathcal{H}^i = 0$$

constraints

Quantize

covariant. $g_{\mu\nu}$ --

$$\text{Canonical } [g_{ij}^{(t)}, \pi_{ij}^{(t)}] = \delta_{ij} \delta(x^i - x^j)$$